Supporting Information

Novel Synthesis of 3-Azabicyclo[3.1.0]hexanes by Unusual
Palladium(0)-Catalyzed Cyclopropanation of Allenenes

Hiroaki Ohno,* Yusuke Takeoka, Kumiko Miyamura, Yoichi Kadoh, and Tetsuaki Tanaka*

Graduate School of Pharmaceutical Sciences, Osaka University, 1-6 Yamadaoka, Suita, Osaka
565-0871, Japan.

General Methods. Melting points are uncorrected. Nominal (LRMS) and exact mass (HRMYS)
spectra were recorded on a JEOL IMS-01SG-2 or IMS-HX/HX 110A mass spectrometer. 1H NMR
gpectra were recorded in CDCl3. Chemical shifts are reported in parts per million downfield from
internal MesSi (s = singlet, d = doublet, dd = double doublet, ddd = doublet of double doublet, t =
triplet, g = quartet, m = multiplet). Optical rotations were measured in CHCl3 with a JASCO DIP-
360 digital polarimeter. For flash chromatography, silica gel 60 H (silica gel for thin-layer
chromatography, Merck) or silicagel 60 (finer than 230 mesh, Merck) was employed.

L/ (e
= Pd,(dba)3-CHCI3 S
Mts—N Mts—N

AN -

OCOsMe >
6\ A 2 ] H

General Procedurefor Construction of 3-Azabicyclo[3.1.0]hexane by the Palladium-Catalyzed
Cyclopropanation of Allenenes. Synthesis of (1S,2S,5R)-2-1sopropyl-3-(mesitylsulfonyl)-1-(1-
methylene-3-butenyl)-3-azabicyclo[3.1.0]hexane (7) (Table 1, Entry 5). A mixture of 6 (50 mg,
0.150 mmol), Pdy(dba)3-CHCI3(15.5 mg, 10 mol%), and allyl methyl carbonate (0.102 mL, 0.90
mmol) was refluxed for 5 h. The mixture was diluted with Et,O and washed with water, and dried
over MgSO4. The filtrate was concentrated under reduced pressure to give an oily residue, which
was purified by flash column chromatography over silica gel with n-hexane-EtOAc (20:1) to give
7 (36.1 mg, 64% yield) as colorless crystals: mp 100102 °C (n-hexane—Eto0); [o]5 +20.7 (c 1.69,
CHCI3); IR (KBr) cmrl: 1327 (NSOy), 1153 (NSO»); H NMR (500 MHz, CDCl3) &: 0.51 (d, J =
6.7 Hz, 3H, CMe), 0.94 (d, J = 6.7 Hz, 3H, CMe), 0.97-0.99 (m, 1H, 6-CHH), 1.03-1.06 (m, 1H, 6-
CHH), 1.09-1.12 (m, 1H, 5-H), 2.00-2.06 (m, 1H, Me>CH), 2.28 (s, 3H, CMe), 2.62 (s, 6H, 2 x
CMe), 2.98 (dd, J = 15.9, 7.9 Hz, 1H, 2'-CHH), 3.03 (dd, J = 15.9, 6.7 Hz, 1H, 2'-CHH), 3.49(d, J
= 9.8 Hz, 1H, 4-CHH), 3.65 (dd, J = 9.8, 4.3 Hz, 1H, 4-CHH), 4.05 (d, J = 2.4 Hz, 1H, 2-H), 4.85
(d, J=1.2Hz, 1H, C=CHH), 4.93 (s, 1H, C=CHH), 5.07 (d, J= 9.8 Hz, 1H, 4'-CHH), 5.13 (dd, J =
17.1, 1.7 Hz, 1H, 4 -CHH), 5.73-5.82 (m, 1H, 3'-H), 6.91 (s, 2H, Ph); 13C NMR (75 MHz, CDCl,)
0. 11.9, 16.3, 19.6, 20.1, 20.9, 22.7 (2C), 30.2, 35.0, 39.3, 50.4, 65.8, 113.5, 116.7, 131.8 (2C),
135.2, 136.1 139.4 (2C), 142.2, 148.4; MS (FAB) m/z (%) 374 (MH*, 50), 119 (100); HRMS
(FAB) Calcd for CooHzpNOLS (MH): 374.2154, found: 374.2154.




DA ZHI 008)
yA
I\
N—SIA

2982, dnit
ZH €1 ININNIAS
€000 INATS
sauty ek SNYIS
e NIVOY
ZH €9 /91291 13580
ZHN 00 00S 94480
HI INNED
Jasn €92 Hd
ZH 19°0 [0S
33sw 00000001 LMINI
J3sw 00010°0 034d
93sw B66E BEID WLOJY
235 919€°G ad
sauty | AWAND
sauwty 2g SIWIL
23sn 0°001 TAINT
J9sn /'8 10v30
93sn 0" 0b AY130
ZH 000G HII4
ZH 0700007 no3y4
sjutod vBEY] 0dAYS
sjutad yBegl INIOd
uou 300WX3
AJ01STHAIL[S
aut Hi Juawwo)
ejepuwu g fbutpeo] awenart 4
2002 22 GE LT 1 JeW 1u4 @ ajeg

wdd 2 v ; m
W _ L 1 1 L _ 1
’{Jﬁ ‘J‘ Y /{V } ~ ; .I])* J%Ar ‘/_ﬁrr])‘.
il - I B v - e s S — -
1 {2 - -1 — — - I=X=} e Tl —a
W) % o w B H m m % %% e z H
4 4 s ool 43 :
Ly o o
g
wd 60 0 gz 0t 1E| |wdge rel| s ¢s | [ 75 85 6
_ ‘ _ - ol T N NI A d b
J o ° N = . .
3 S & = S £ 3 Z

Ul HI




DA ZHI 008)

z1
W

J1¥v9 diW3l

H ET ININNIAS
£7303 LNATS

sawiy ce SNYJS
e NIVIH

IH £9°/91291 13580
ZHA 00006 04480
HI JNNEO

Jasn £9°¢ Thd
H 19°0 10534
23sw 0000 0003 1MINI
J3sW 0001070 1034d
JasW g66E HEY W102¥
38S gIgE'§ Od
sauwty | AWWNQ
sauly ¢g SIWEL
2asn (001 TAINT
238N /86 1av3a
2asn 0 oy AV13Q
ZH 000G IR E

ZH 0 00001 0344
syutod pgEgl OdWYS
sjutad yeeg] LNTOd
uou J00WX3

. AJa3styanL(s

3UTT HI Jus3wwo)

€lepuu 107138 AWeNa[4

<002 8E 9¢ Gl 9 JeW Pam : 2ieQ

uitid 0

Y

00°E

B9 U

ve8'g L

007% q
\

oot

(61,

00°1
vo'2
o2
£0'L
g2,
805

aut Hi




(1DAD ‘ZHIN 008)

egl

Jasn
H
2350
235w
J3sw
235
sauty
sauty
23sn
2asn
33sn
2H

ZH
sjutod
sjutod

9'81
2
£1000

¢t

81
€9°/91¢91
00005

06°6

19°0
0000 0001
00010 0
666E 8EIT
918E'S

1

ct

0001
[AA]
0°0F
0005
000001
v8E3g1
r8e9l

H1

ugu

UL My

Plepwy /0Z13S

dW3L
ONINNIdS
INATS

SNYIS

NIV
13560
04480
JNNB0
TMd
10534
IMINI
1034d
W10V
Qd
AWWNG
SIMIL
TAINT
10v30
Av130
Hl714
[JUELE]
0dWys
INIOd

300WX3
AJO1SIHADI[S
BUE ]
JWeNa[ (4

£00¢ 15 €€ €1 €c [ pam . 33e¢

widd

0 14
— ! l L L
VY ﬁﬂ o Y T
- \\ y ﬁ.l \l —_ N ST = o \.i
- -~ . — o o o — oo - — o
o - : b : oo : o
gl e B Sl A s B = 8 28 o 8 v
W
uggt v
L]y
626
|l
562 00°€ 89°g _\
bl L L] -
— wdd  G/0°G  001'S SIS 0S1'Y

Lid v | _\T;/_ 1| +A%;4/A | _

SL°§ 08'G S8°S

1] __ 111 _ _L1+\1L|41

aull HI




300.40 MHz
130.00 KHz
1150.0 Hz
32768
6013.2 Hz
32
5.449 sec
1.551 sec
5.5 us
20.0 ¢
0.00 ppm
0.12 Hz
16

1H

EXMOD NON
OBFRQ
OBSET

DATIM Mon Aug 25 11:19:55 2003
OBFIN

DFILE D:\03.08.25.No.2.als

COMNT 2
OBNUC

POINT

FREQU

SCANS

ACQTM

PD

PW1

IRNUC 1H
CTEMP

SLVNT CDCL3
EXREF

BF

RGAIN

(300 MHz, CDCl3)

PPM

J\_J
{S——
T T ]

0
RV RCEN]
WO M o
~~
cocoo

£9€0-£.4 5
— 88L°0
- €18°0
85201 E 920°1T
0STE € I :/ZIII
6T\ j%: .

67T
T68%°¢C
19621

7

88GE" €

6£2p6 M\

/
AL

2888 L M

!

M
il

N

5.04

R

5.06

|||‘|V!|INII|IT

5.08

Sk

B

0€€6°0

/

2890°¢

§900°T =—====ﬁ

GEST ¢

. TSE0° T >
~ 9012'T

00001 \ % |

4.950
™
©
~
0

yoEEE— =

\ :
4,925 4.900
T T |
6
Lhil
fﬁrrﬁ’r%%’"/)
WYMo r~NM~OY
OSSN n
HOOOOCOOOo
S u‘;lnnr;mm'mmv 3

T
M <
0
SR
~ 0

4.975

_._JL_JL
T

!

J N
oM
Mmoo

W O~

n W

ol



DA ‘ZHIN 00S)

eyl

—/\

sawiy

ZH
ZHN

2asn
ZH
RENT
Jasu
Jasu
Jas
sauty
sauty
Jasn
3asn
Jasn
ZH

ZH
sjutod
sjutod

€81
€1
£7000

cE

e
€9°/91291
00005

Hi
£9'¢
19°0
00000001
00010 0
666 8E9T
g19t'§

uou

ut Hl

e1epuu’ GOZ1as

dh3l
ININNIDS
INATS

SNYDS

NIVOH
13580
04480
JNNG0
TMd
70S3
1MINI
1034d
W10Y
0d
AWWNG
SINIL
TAINI
10v30
AV130
HLI4
no3d4
OdWvS
INIOd

300wWX3

AJDISTHIIT[S

Ju3wwoy
auweNafty

£00¢ 10 6S 81 0¢ unp td4 . 31eq

wdd 0 2 v 9
I | | ! _ | ! | ! _ l L l
q.ﬁ 2%{.%(‘5 ﬁ. ﬁ M T - }i\lJ‘t_«s!.:} T YT T
I e — P e e — —
A4 e |\o tlm (ﬁ z\.o = - r.LHa,\ = EP\A
“B|® §%2® o) 4 e B8 8 & 8 & 8 z
3 o
g
udi56 0 G6°0 00 wgd e v »
! u L1 . .
wd
NASREENEEE 4~____3PFLRH)__ L4 62 o€ !
! fa nl _ 11l Lol
dd sez’€  0S2'E| lyggpege ou9c
Nyt | 1
g Ty 21y 0
uddsg y gdds  01'S  GI'G
[l .
wdd
[ W11 L e [ SLs 08
NERINERI NS

Ul HI




DA ‘ZHIN 008)
avl

N
(=

S

—/N\

To
<
@

sauy

0c
ZH £9°/91¢91
ZHA 00 00S

23N 0G'G
ZH 19°0
J3sw 0000 0001
235 00010 0
235U 666€ BET]
33S 919€°G
sawry
sawty
Jasn
23sn
aasn
H
ZH
sjutad
sjutod

Hi

uoy
A407
JULT HY
ejepuu /0Z13s

€002 22 L2 01 E¢ [nP pa

=% L

wdd

Sl

di3l
ONINNTAS
INATS

SNYJS

NIVIY
13580
04480
JNNEO

TMd
053

IMINT
7034d
W100V

ad
AWWNQ
SIWIL
TAINT
10v30
Avi30
INIE}
o343
OdWvS
INIOd

300WX3
STHAAL[S
Juwwo)
awena(t4

Moo aeq

w\;/xef o ﬂ‘4\< ﬁ){i\izgzxx)g—ﬁ,
r o r r— -
1 {757 | S
Wf 2 5B w 8 8 g8
ol ® 2 ~ & A%
P
S
wad or'1 gy
T S [
udg; 2 5.2 08°2
N NERTE R RESRENE
wdd g5 1 09T ST 0L7)

I

‘\H\.

= oo

w oo -

~ oo
n

wgdy 006 v G26'Y  0G6 'Y

,; L1 _¥\ﬂx __\+4xa;7_ __ __\ﬂ

€0t

\V4

8€°¢

wdd G/ G

S0'E

| _ I 1 I I

!

aut] HI




E1DAD ‘ZHIN 008)
Gl
I\

N—SL

=N\

J v & dW3l

H vl ININNIAS
£7000 INATS

sauty ¢g SNYIS
cc NIV9Y

ZH €9°/91291 13580
ZHW 00004 04480
HI JNN8O

33sn £9°¢ TMd
ZH 19°0 10S3H
3asu 0000 000§ 1MINI
J3sw 000100 1034d
J3su 666E BEIT W10V
23s 919E°G ad
sauty 1 AWAND
Sty cg SIWIL
23sn 0°007 TAINT
oasn /'8 10v3a
23sn 0 0¥ A¥730
ZH 0005 d1714

ZH 0°00001 ne3d4
sjutod pgegy 0dnYS
sjutod pgegy INIOd
uou 300WX3

AJOYSIHAAL[S

LT HT Juawwo)
ejepuu10zLas JUeNa[L4

€002 92 G 87 €2 AeW tuy : 3jeg

wdd 0 . m
! ! L | B _ k | _ _
co
o o o -
- 58 3
mc n
= Py
- w
~
2 K
=
g z
2
o
I
mdg S0 90
Lol |
o
N
i v € wdd 9°€
o ot wdd /g 8'g

auT] HI




